Money: Multiplication and Division
Write these out carefully and complete:

1. a)    £2.45          b) £3.75       c)   £3.56      d)   £4.70      e)   £ 4.18
           x 2                   x 3                 x 4                  x 5                 x 6
      ----------      ------------           ---------          --------           --------


f)    £ 6.85         g)  £2.86      h)   £ 3.07
             x 7                   x 8                x 9      
        --------            ----------        ---------

2.  a)   2    £1.80       b)   3    £6.39   c)   4    £4.84     d)  5    £5.80   e)  6   £3.06
 
            f)      7    £42.00    g)      2      £18.32    h)      5   £17.85

3. Write the following in the way show above and calculate:
 
a) £6.73 x 2     b) £17.58 ÷ 2     c) £5.69 x 3     d) £19.59 ÷ 3 

           e) £19.04 ÷ 4      f) £7.86 x 4      g) £9.75 ÷ 5      h) £8.26 x 7

i) £ 38.08 ÷ 8       j) £4.87 x 9      k) £6.48 x 6      l) £1.62 ÷ 9

Extension Section
George and Mildred have £29.80 between them. 
George counted their money out and discovered that he had £1.60 more than Mildred.
How much money did each of them have?

I bought 8 pieces of fruit, a mixture of kiwi fruit and grapefruit.
Each kiwi costs 25p and each grapefruit costs 40p.
If the bill came to £2.30, how many of each did I buy?
(Hot Tip: Make a guess, check and improve!)
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